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A= iﬁa: ig><1 = 10‘/6(0111)
3 3 3
1
MH:5\/§><§ = %g(cm)
AAMH = QX%EX%Z%E(CHF)
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- ABCM = 5><6><3«/§=9«/§(cm2)
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b = 1442

12 ¢ V2

a® =12 x 144 = 2033 = (22 x 3)°
. a=12(cm)




7. TS ™89 AABC oA AB =
12¢m, BC = 24cm, /B = 60° ¥
o, AC o] Zo]&?

D 10V6ecm @ 11V4cm
(@)12\/§Cln @ 13V5cm
® 14V2cm
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AABC ] 213 A o 4BC A

W A S H 5o /
AABH |4 AH = 125in60° =
6 V3 (cm)

BH = 12c0s60° = 6 (cm)

E, AAHC |4
CH=BC-BH=24-6=18 (cm)

X2 =A0 +CH = (6V3)? + 182 = 432
. x= V432 =12V3 (cm)
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(<, sin55° = 0.82, cos55° = 0.57)

@2 @ 4 ® 6
@ 8 ® 10

sin55° = = = (.82 |2 x = 6.56
cosbh° = = = 0.57 |2 y = 4.56

whabA], x -y = 6.56 — 4.56 = 2 |t}

ool< Ol =




D
® 612 @ 513
3)12V13
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tanB=£:§ - BC =48
BC 4

~ OD =BG =2
w2k AADC oA

AD = V362 + 242 = V1872 = 12 V13 °|t}.
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A
B\\600m—’/c
@ 30(2- V2) em @ 30(4- v2) cm
® 30(2- ¥3) em @)30 (3 - V3) cm

e 60
tan (90°66 45°) + tan (90° — 60°)

- ta%%5 ° 4 tan 30°
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1+ —
180°

T 3+3
180 (3 - V3)

9-3
=30(3- V3) (cm)
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B

AH = 8sin30° =4

CH = 8c0s30° =43

BH =4V3tan60° = 4V3 x V3 =12
~AB=AH+BH=4+12=16
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D 4V2  @4V3 @45 @4«/7 ©® 411

ﬁ:lZsinGO":le\/?g =643
. 1
BH = 12c0s60° = 12 5 = 6

CH=8-6=2
x=1/(6V3)2+22= VI8 +4= V112 =47




